BE#HBA 2024/3/11

REX

INATIY

FSOAIL

T T <
B3  2014F 113

FS5OAII
[210315]

GEa58
Hyi ) —<E
E—42ABsEH

N & L) P2 =




B A 2024/3/11

2= 6B

J/ WJ
=) _\nﬁ.z._
A

A
——

1. FS0A

..\mmu.f._ __Ahlu/..
Naa VNV

o —
.-.. |.—|




F50A BEIH 2024/3/11
1. EEHEER
HE | HeES BB A HE | BEHM HE
1 FFO1 |F50X&& 1 99,100
2| FF02 |F50¥%+h/\— 1 5,210
3| FF03 |F50#&8AH/\— 1 5,780
4| FF14 [F50%&EpH/\—4k 1 2,310
5 FF15 |[F50/ER 1 1,740
6| FF16 [F50HYAKA/\— 2 470
7| FF17 |F504)#% 1 1,620
8| FF19 |[F50X&hA%)L 1 13,860
9| FF20 [R—ILRTYLYT (601622) 1 2,670
10| FF23 |[FSOMTBARAKRD 1 1,970
11 NO39 |AAIILF¥yyT 1 150
12| FF28 |F507k—RAH/\— 1 400
3 FF29 |F50AR—LTL—Fk 1 —
FF30 |[FS50AIMMR—LTL—F 1 —
14| 7021 |[3—FJwia 1 590
15 7099 |[§kHEIIL (ST-11) 1 150
16| F101 [BLARERAyF 1 6,360 TL—4t#%
17| F153 |[RyF> T34 CTa—k 1 6,930
18| WY15 |ERLLOE®H (ETW-15.0) 1 150
19 NO41 [RAYF/\vFxy 1 410
20| No048 |RFL—F 1 1,050
21| N514 |B 9 LEE 1 2,080
22| N515 |9 EZERFXyyT 1 700
23| N624 [|;hzZ(T 1 2,080
24| TO56 |4FH%EF 1 700
25| ZJ50 |FR—R/IAUKR (10mm) 2 210
26| WA42 |T54 (R1) 1 570
27| NO049 |AL—FH—A555 55mmR 1 360
28| WO063 |/RAIUIARILE (M6 % 20) 2 150
29| W083 |/RAYUIRILE (M8 % 25) 2 150
30| WA27 |RANRMKRIVAILE (M6X15) 4 150
31| W68A |RAYTIEDHRL (M8 x 141" 5EAvi)| 2 150
32 W245 |BE~R/pRL (M4 x 20) 2 150
33 w251 |HER/NpRL (M5 % 8) 5 150
34| WA55 |2vErS 4l (M5 % 8) 1 150
35| W4A4 |/l (M4 x 12) 2 150
36| WC04 |RAFvUr (M4) 2 150
37| WWI16 |EiAACH L& ER (FETX16) 1 150
38| WL41 |RTYLIEY (p4%10) 2 150
39| WN34 |Efik (#4 % 5) 2 150
40| W68B |NRAIUTIEDHARL (M8 X 1281 5EAvh)| 2 150




B H 2024/3/11

fif - E—A SR

A
——

2. FS0A




FS50A BHHHA 2024/3/11
2. - E—4%
H%E | BaES =il Af 4 WE | {ZLERE HE
1 02F5 |E&—= 1= 55,440
2| FF04 |F50#{tHRA—IL 1 20,790
3| FFO7 |[F50#&ERoyO0—)L—= 13( 27,720
4 FF13 |F50R%&Z0O—)L 1 11,550
5| PM08 [R&O—)LH/— 1 5,550
6| PM09 |RUBO—/L%IT 1 8,320
71 PM11 | R&oO—)L)TT 148 5,550 3{E148
8| WO053 [RAISIRILE (M5 % 12) 6 150
9| FF10 [F507TvARR)Y 1 470
10| FF11 [FB0RSRKJLY 1 1,620
11 FF18 |R&O—JLEEMRILE 3 590
12| F030 |[7o¥ARJUTRIER 1 150
13| NO006 [Frvs (K-S) 1= 76,230
14 NHOO [FyyoKRIAE 1 31,190
15 NS00 [gfRYO—/L 1 15,250
16| NOCJ [FvyoEM 1%8 20,100 31E 148
17| 70KS [SEFvyT 148 12,480 31E 148
18 W069 [RAYUIRILE (M6 % 55) 1 150
19 wo7B [RAIUIRILE (M7 % 53.5) 6 150
20| WE16 |UFvk (M6) 1 150
21| FF24 |FS50AE—% (100V) 1 115,500
22| FM10 |h—R2TSY 148 2,550 21E 148
23 FM16 |h—RoRILE 2 2,550
24| FM17 |h—RoFvyT 2 1,160
25( 1035 |Paqrh 2 290
26 | PM31 |NS50:80A A JLR>T VELVIVA LD 1 9,710
27 % A K—24507F 450mmR 1 1,050
28 it HHK—29307% 930mm7 1 1,050
29 [ zJ50 |R—R/NUKR (10mm) 2 210
30| W067 |NRAIUIRILE (M6 % 40) 2 150
31| WOSN |RASIRILE (M8 % 45) 4 150
32| WG06 |[FHafES (M6) 2 150
33| WG08 |(XtafE# (M8) 4 150
34| W62 |FEE (6x13x1) 2 150
35| Wil |FES (8x16%1.2) 4 150
36
37
38
39

S
o




B H 2024/3/11

3. F50A FESE




F50A BT 2024/3/11
3. FEEAEH
HE| HaES &B AR £ HE | BRI HE
1| FF33 |F5011EA 10 Abynft 1 46,200
2| FF08 |[F50%ZIF/8(TA 1 11,550
3| FF09 |[F50%I(+/847B 1 9,830
4| FF12 |F50%&h5— 1 600
5( FF27 [F50&Y/\>R)IL 1 6,930
6| 1076 |hyARAZEY 1 420
7| F401 |J—THRIILFLEHEY 1 850
8| G861 |p10RIy/N— 1 360
9| PM55 [FzvF/NILT” 1= 2,310
10| 2J50 [R—R/NUK (10mm) 1 210
11| W06B [AREIMTRILE (M6 x 25) 1 150
12 wiel [RERILE (M6 %X 10) 1 150
13 W556 [FSR/ML (M5 X 10) 1 150
14| WD12 |RAFvY+ (M12=78) 1 150
15 W63 |FES (6% 19%1.6) 1 150
16| WI87 |FES (17x28x3.0) 1 150
17| WH26 [KES (#26) 1 150
18
19

N
o




4. F50A ﬁ‘y’)'l—-')—?%d} FEHE 2024/3/11

O 9 A
>




F50A BEHAE  2024/3/11
4. HyB-1)—<H
HE| HaES i AR e HE | BREHM HE
1 ONCTPS |AvA2—= 1= 31,190
0SCSPS | ATV LRAAAYE—R 1= 31,850
2 N020 |HvAIL—L 1 16,170
3 PM43  [AvANUERIL 1 3,470 PR LA
4 4067 |hvBAHAR 1 8,320 HuBE D (K)ft
5 | 135076 jJ‘Z’;‘GJ 1 - RPN
135077 | ATV LRAADYEHA -
6 2471 |AvREY y 51 1 360
7 WN12 (BIEY (#2.3x15) 3 150
8 9027 |HAFEY 1 210
9 9025 |AvAIEta 1 210
10 5079 |AvREY s 2 360
11 5074 |hvAO—5 2 700
12 N023 |hvAa% 1 5,550
13 4072 |hvBIL—LIEHEY 1 210
14
15
16
17
18
19
20
21 | ONRTPS [J—<—= 1R 25,410
22 PMK5 |J—=7RILA 1 11,090
23 NO27 |J—<iEY 1= 4,390 Ehft
24 WL86 [RTULTEY (8 X 35) 1 150
25 WL57 [RTULTEY (5 X 35) 1 150
26 PM38 [J—<H 1 12,480
27 WL87 [RTULTEY (8 X 45) 1 150
28 WL59 [RTULTEY (5 X 45) 1 150
29 5096 |J—<RILA (E4a (8x10) 1 150
30 WQos |fHEk (#8) 1 150




EBEH 2024/3/11

5. FBO0A E£—A4%R




F50A FHHA 2024/3/11
5. E—AER e
NE | BaRES =il Af 4 BE | ZLEE e

1| FM25 |/1\Hoosy 1 15,020
2| FM16 |[H—Ro7RILA 2 2,550

3| FM10 [(H—R2TS5Y 148 2,550 2{@148
41 FM17 |[H—RoFvvT 2 1,160
5| FF39 [RF—%(100V) 1 9,830
6| FMA1T |RbvTTL—b 2 590
7| FM42T |I7rhin— 1 1,160
8| FF40 [Z<Fa7(100V) 1 31,190
9| FF41 |[ARR—H 1 930
10| FF21 [F¥Hh/— 1 9,830
11| FF22 |A>FHh/\— 1 9,830
12| FF44 |REVERIL 1 14,560
13| NM23 |[H—FFx¥ 1 6,300
14| FM46 [(FHhF— 1 210
15| FF42 |[J7—ARXYVY—=H 1= 13,400
16| FF43 |[EHVEFY—=HK 1= 11,680
17| S701 [ R—ILRFYL5 (620022) 2 640
18 1202 [ R—ILRFTYLY (620122) 5 950
19 7M30 [R—ILRFYLY (630422) 1 2,030
20| W255 |~ /pRl (M5 X 25) 7 150
21| W25B |ER/pRl (M5 x 65) 4 150
22| WG05 |(XHafEE (M5) 11 150
23 TERER (FETX5) 2 150
24| FM47 |R7YL5Ovy 2 150
FM14T [)—FO A% (F: h—RUBRILF S XA YF) 1R 360




